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Note : The question paper is divided into three sections
'A', 'B' & 'C'. Answer the Questions as per the
direction given in each Section.
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Answer any two questions. Ezch question carries 15 Marks.
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Explain the concept of organizational change. Discuss the
agents which resist or support it.
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Give a detailed account of Total Quality Management.
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Explain job-evaluation and re-designing of job. Discuss with
suitable examples from an organization of your choice.

e farra o 58T FI-F §7 A Hifeu|

What are the interventions of organizational development?
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Briefly discuss any four of the following. Each question carries
5 Marks.
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Organizational learning.
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2. Ethicsin organizational development.
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3. Organizational Politics.
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4. Steps to manage change.
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5. Functions of consultants w'th regard to change.
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6.  Organizational culture.
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7. Quality of work-life.
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8.  Features of organizational development.
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Answer all questions. Each question carries 1 Mark.
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Answer the following in one or a few words only :
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A three-stage model of change involves unfreezing, changing
and refreezing. Who developed this model ?
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What is the popular name of the model of organizational
development, given by Marvin Weisbord ?

qfdq aEsEe & g fasfaa f7d U dneeas o
# U (Hisd) & Alhiya/yEed W # R 2

Write the name of the person who is known as a pioneer scholar
in the field of Total Quality Management (TQM) and who
propounded 14 principles for TQM.
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4.  The goal of this process is better utilization of external and
internal knowledge for achieving competitive

advantage. What is itknown as ?
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Choose correct answer.

5. Which of the following is the function of top-management
regarding identification of the areas in which the change is

required ?

(a) The legitimizing function
(b) The energizing function
(¢) The gate-keeping function

(d) All of the above
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6. In terms of an organization, 'norms, values, unwritten rules of

conduct and prevailing inter-personal behaviour', all put
togather are referred to as;

(a) Code of conduct (b) Organizational Culture

(c) Vision Statement (d) All of the above
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7. Which of the following refers to planned change?
(a) To increase profitability

(b) To protect investors

(c) To promote social responsibility
(d) All the above
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8. Which of the following is a reason of resistance to change?
(a) Expected loss of power & control.
(b) Participation & involvement.

(¢) Communication & education.

(d) Negotiation & agreement.
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10.

In which analysis, it is stated that each individual has three

ego-states in varying degree and one's action or

re-action depends upon the situation and the ego-state?
(@)  Process analysis (b)  Transactional analysis

(c) Behaviour analysis (d) Attitudenal analysis
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There are two sources of 0 ganizatioal knowledge. Which of
the following is one of these ?

(@ Structured Knowledge source

(b) Traditional knowledge source

(c) Knowledge network resource

(d) None of the above
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